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(A) CHy — CH, — N (A) CMy = O, — Ol
(B) CHy = CH, (B) CH, == CH,
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P)H—C =C—H D) H—~C =C—H

5. frafofea o § fm s % foro same 5. Forwhich one of the following concave
adon a1 3 =t o e 7 Qieaiencieed )

L o
=

() A e
@ Wi
(©) ¥ % st it e |
(0) it & fert-gra o,

ity

PRTE e

'






b

11. Eraqu:ﬁpi

(A) mw%#@nfﬁm‘m
(B) W2 "

(C) =2/R "&
(D) qoi &
12. fefafErdasm-mrwmaaadit 7
(A) ETHH~E (B) TFTE2
(C) A=A (D) fafer=m
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(A) Miﬁ * *-’ﬂ
(B) (M+ ﬂ‘i?)ﬂ

11.

12,

13.

When a nucleus emits a }-ray, what

does not change ?

(A) Sum of proton and neutron
numbers

(B) Proton number

(C) Neutron number

(D) Total charge

Which one of the following is not an
element ?

(A) Diamond
(C) Ozone -

(B) Graphite
(D) Silica

A wire of length L has mass y per unit
length. It is used to pull up%hq@a!
mass M upwards wllh cCe 4







19. fFr=fafag Ay ¥ qEay i
HH= %1 379 g 44 R 7

(A) F, 3fk 02"
(B) N, aflt co
(C) F, 3R NO*
(D) 05 3N,

o

20. frg TEETsERe O Wl wurE sy
e R ?

(A) PH, (B) AsH,
(C) NHy (D) SbH,4

19, Out of the following set of compounds

which set has bond order +1 2
(A) F,and OF

(B) N, and CO

(C) F, and NO*

(D) O3 and N,

20, Which trihydride has most thermal

stability ?
(A) PHy (B) AsH,
(C) NHjy - (D) SbH,
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(A) Fm 9.8 /A A M

(B) A 4.9+ /8§ fin

(C) = 9.8 1t /62 q fit

(D) w0 4.9 Hi /82 R
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27.

A gunman and an apple are both at
height 98 m above the ground, at
distance 200 m from each other. At

1 =0, a bullet (m =5 gm, velocity
200 m/s) is fired horizontally aimed
at the apple. At the same time (t = 0)
the apple stans to move downwards.
Given g = 9.8 m/s?, the bullet will hit the
apple only if it moves at constant

(A) velocity 9.8 m/s
(B) velocity 4.8 m/s

(C) acceleration 9.8 m/s?
(D) acceleration 4.9 m/s?
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(A) AgF
(B) AgCi
(C) AgBr
(D) Agl

4, vl fafE i weie e i g
@ e 99 =1 ua & ?

(A) m@ﬁr—x
(B) &A™

33. Among the halides of silver, the one
with lowest solubility in water is

(A) AgF
(B) AgCl
(C) AgBr
(D) Agl

34. Which element was discovered
through the Fraunhofer lines in the

solar radiation ?
(A) Hydrogen
(B) Helium

(D


































